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I have read 134 of the 
512 pages of my book.

How many more pages 
must I read to reach the 
middle?
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There are 8 shelves of books.
6 of the shelves hold 25 books
each.
2 of the shelves hold 35 books
each.
How many books altogether 
are on the shelves?
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A bus seats 52 people. No
standing is allowed. 17 people
got off the bus. How many
were left on?
How many people can sit on
6 buses?
How many buses are needed
to seat 327 people?
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I think of a number, then
divide it by 15.
The answer is 20.
What was my number?

Year 5Copyright 2012 www.tpet.co.uk

There are 12 eggs in a box.
How many eggs are in 12
boxes?

How many boxes will 192
eggs fill?
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Three children play Tiddly-
winks.
What was each child’s score?
Yasmin 258 + 103
Steven 177 + 92
Micky  304 + 121
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